November 8, 2020

To

CROSS WORLD POWER LIMITED

Plot 1/B, Road 90, Gulshan-2, Dhaka-1212, Bangladesh

Attention: Md. Borhan Uddin

Engineer, Sales

Cross World Power Ltd.

Dear Concern,

With the reference of your submitted quotation, dated November 5, 2020. We are pleased to inform you that, we accepted your offer for supplying of 65 KVA Generator with local canopy and Local ATS as well as Installation & Commissioning materials, with the following terms & conditions as well as technical specifications as per your offer reference CWPL-AM/6178/20-R03F

SL#	Description	Unit	Unit Price BDT	Total Amount BDT
01	TEMPEST Brand 65 KVA (Prime rating) diesel Generator with Perkins engine (U.K),Stamford Alternator (U.K),Control module from Deep-Sea (U.K), Assemble-UK Country of origin: UK Shipment: UK	01	1,060,000	1,060,000
02	Local canopy for 65 KVA			
03	Local AT\$ for 65 KVA			
04	Installation & Commissioning materials	1 lot	82,598	82,598
			Total	BDT 1,142,598.00

In Word: One Million One Hundred Forty Two Thousand Five Hundred Ninety Eight Only

Payment terms:

- 1. 30% (BDT 342,779) payment will paid along with Work Order.
- 2. 60% (BDT 685,558) payment will be made at the time of delivery and
- **3.** Rest 10% (BDT 114,260) will be paid as PDC (10 days of delivery) along with 2nd payment.

Delivery: The Generator will deliver within 10-15 days from receiving of work order. **Installation & Commissioning:** Three (03) days from the date of delivery subject to site is ready to commissioning.

Warranty: Cross World Power Ltd will provide 02 years warranty from the date of commissioning for any manufacturing defects or any premature wear & tear. Warranty doesn't cover improper maintenance by the user, consumable items, servicing by unauthorized person, running the generator set above its capacity or any unauthorized modification of the generator set.

Thanking you

Professor A M M Mujibul Haq 10 11 20100

NOSS WORLD POWER LIMITED CROSS WORLD POWER LIMONEY RECEIPTOWER

ROSS WORLD POWER LIMITED CROSS VCROSS WORLD POWER LIMITED

PLOT - 1/B, ROAD - 90, GULSHAN - 02 DHAKA - 1212, BANGLADESH DWE TEL: (880 2) 58811858, 9891442 R LIMITED CROSS WORLD POWER LIMITED CRO

MITED CROSS W Ensuring Power Since 1983

WORLD POWER LIMITED CROSS WORLD T

ROSS WORLD POWER LIMITED CROSS WORLD POWER LIN

Page Monte Dawer & Case Ware	David Em 1 ax. (000 2	1 300 13 100 OWLK LINE	Date	THE TONGE TO LINESS
1055 WORLD POWER LIMITED CROSS WORLD	POWER LIMITED CROS	S WORLD POWER LIMIT	ED CROSS WORLD POW	THE LIMITED CROSS
ROSS WORLD POWER LIMITED CROSS WORLD	POWER LIMITED CROS	S WOND ROWER MIT	FREE CROSS WORLD POW	ED LIMITED CODES
ROSS WORLD POWER LIMITED CROSS WORLD ROSS WRECEIVED with thanks from M/	SOMER LIMITED CROS	A TOP OF THE	HAJISS HARD	ED LIMITED CROSS
ROSS WORLD POWER LIMITED CROSS WORLD	POWER LIMITED CROS	SAVORIOS ON LIMATE	ED CROSS WORLD POW	ER LIMITED CROSS
ROSS WThe sum of Taka (in words) The ROSS WORLD POWER LIMITED CROSS WORLD	ADAVER LLIANTED EBUSE	SYLV POLICE WHERE DIVERSE	EDUCAROSS HWORLD Phy	endmed Choss'
ROSS WORLD POWER LIMITED CROSS WORLD	POWER LANTING GACK	NO POWER LIMIT	ED CROSS WORLD POW	ER LIMITED CROSS.
ROSS WORLD POWER I MITTED CROSS WORLD ROSS WORLD	Power Limited Cross	WRLD POWER LIMIT	ED Cross World Pow	
				ER LIMITED CROSS
ROSS WORLD POWER LIMITED CROSS WORLD ROSS WORLD POWER LIMITED CROSS WORLD ROSS WORLD ROS	O OWER LIM COS	S WORLD POWER LIMITI	Dated Co. J.	ER 2 MOTE SROSS
DOSS MODE D PAWER LIMITED CROSS WORLD	POWER COOK	Most o Dowes Live	D. CHOS ALEMEN COM	ER EIMHED CROSS
ROSS WORLD ROWER LIMITED CROSS WORLD ROSS WAS Advance/Part/Full Payment	FOWER WINED CROS	WPL-AM/SIZE/	BU CHOOS HI ORLD, BOW	F 18 18 35055
3055 VAS Advance/Part/Full Paymen	against Bill No		E.I.ROSDated D.M.dw.	ER.LAMMEDICTEDSS
ROSS WORLD POWER LIMITED CROSS WORLD		WORLD POWER LIMITE		er Limited Cross \
ROSS WORLD POWER LIMITED LROSS WORLD	Power Limited Cross	World Power Limite	D Cross World Powi	er Limited Cross \
ROSS WTK BOYER HIMTED/CROSS WORLD	Power Limited Cross	World Power Limite	D Cross World Pow	ER LIMITED CROSS

World Power Limited Cross World Power Limited Cross World Power Limited Cross IMITED CROSS WORLD BOWTH QUARTER

ROSS-WORLD POWER LIMITED; CROSS WORLD POWER LIMITED CROSS WORLD POWER LIMITED CROSS WORLD

World Power Limited Cross World Power Limited Cross World Power Limited Cross World Power Limited Cross V

Sess World Power Limited Cross World Power Limited Cro For Cross World Power Limited ITED CROSS WORLD POWER LIMITED CROSS WORLD POWER LIMITED CROSS





World Power Limited Cross World Power Limited Cross World Power Limited Cross V

680.2 2155

CAL 5891044

ROSS WORLD POWER LIMITED Or Bearer A/C No. 0000100545811 A.M. MUJIBUL HAQ

120261729: 0000100545811: " 5B91044"

CROSS WORLD POWER LIMITED BOQ OF 1X65 kVA GENERATOR

ADDRESS- Baridhara, Dhaka

CLIENT - Dr. Mojibul Haq

DATE- 4/11/2020

Cross-world

SL NO	JOB DESCRIPTION	TECHNICAL DETAILS/ BRAND	SCOPE OF SUPPLY	иом	QTY	UNIT RATE	TOTAL RATE	REMARKS
1	Electrical System:							
1.1	Power Cable (35 °C Ambient on air)	4C-25 rm NYY DG To ATS		Meter	8	1313	10,504	
		4C-25 rm NYY Mains To ATS			6	1313	7,878	
		4C-25 rm NYY ATS to Load			6	1313	7,878	
1.2	Power Cable Lugs	25 rm , Material -Copper , Surface-Electro Tinned		Pcs	26	18	468	
1.3	Control cable For Sensing	4 X 1.2 rm (40/0.19 mm)Flexible Cable		Meter	18	90	1,620	
1.4	PVC Flexible pipe	3" dia		Meter	20	237	4,740	
1.5	Saddle for flexible pipe	3.5" dia local		Pcs	20	16	320	
1.6	Royal Plug & Screw	1.5"		Pack	1	171	171	
1.7	PVC Tape	Adhesive Tape 04 color (Red/Yellow/Black/Blue)		Pcs	4	29	116	
1.8	Royal Bolt	10 no.		Pcs	10	18	180	
1.9	Cable Tie	L-8"		Pack	1	138	138	
1.10	Power Cable Laying	4C-25rm NYY power cable		Meter	20	70	1,400	
2	Generator Earthing:			- meter		,,,	1,400	
2.1	Earthing Boring	80 rft	CLIENT	Job				
2.2	Earthing Copper Lead	2 SWG	CLIENT	Meter			-	Already Done
2.3	GI Pipe (Boring)	38mm dia	CLIENT	Meter				Alleady Dolle
2.4	Earthing Block	Dimension LXWXD - 200mm X 30mm X 4mm with connection facility	CEICITI	Pc	1	1974	1,974	
2.5	Earthing Cable	1 X 16 rm BYA (Green) from Earthing pit to Bar & Earthing Copper bar to gen & equipment		Meter	31	176	5,456	
2.6	Earthing Cable lugs	16 rm Material -Copper , Surface-Electro Tinned		Pcs	6	11	66	
3	Exhaust System:						V III	
3.1	Exhaust Silencer straight Pipe	MS Pipe bore 3" ,thickness 3-4mm		Meter	2	1726	3,452	
3.2	Exhaust Bends /Elbow	Long radius 90 deg L bow 3"		Pcs	1	724	724	
3.3	Exhaust Socket	Threaded 3"dia MS Socket		Pcs	1	592	592	
3.4	Exhaust Heat Insulation with silencer box	Insulation Of Pipe with Glasswool (25.4mm min thickness) along with 26SWG Aluminium sheet clading.		Job	1	3010	3,010	
3.5	Exhaust Fitting with silencer box	All bracket , support must be made with MS angle 50X50X 4, 5 & 6 MM		Job	1	2180	2,180	
4	Cooling System:							
4.1	Radiator Ducting	As per layout with 22 SWG MS sheet,Angle bar, flat bar support,Canvas cloth etc WXH=2.5'X2' rft=7'		Sq-ft	63	237	14,931	
5	Commissioning Material:							
5.1	Radiator coolant	Havoline premix coolant		Liter	15	160	2,400	
5.2	Lube oil	SAE 15 W 40		Liter	10	400	4,000	
5.3	Diesel			Liter	100	75	7,500	
5.4	Battery electrolyte	Specific gravity 1250		Liter	10	90	900	
6	DG On site delivery:							
6.1	Loading /Unloading/Lifting	Generator dry weight-2200 Kg	CWPL	Job	1			
7	Civil work		5.11.2	330		1.0		
7.1	Required DG base	Base dimension LXW(ft)=10'6"x5', Depth, D- 3" CC with NCF.	CLIENT	Job	1			-
/	Triedanier po pase	Touse dimension EXW(II)-10 0 x3, Deptil, D-3 CC WITH NCF.	CLIENT			ing VAT & AIT)	82,598	/